Transmission of Power 

Electricity energy is being transmitted on a wire of diameter 1.2 cm for a distance of 100 kilometers. It is being transmitted at the rate of 550 watts (Joules/sec). The wire has a total resistance of 16 ohms. 

a.
Find first the current and, secondly,  the power loss when the potential difference between the two ends of the wire is 110 volts. What percent was lost?

b.
Next, find the current and then the power loss when the potential difference between the two ends of the wire is 110,000 volts. 

a.
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